Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,1 0,0001 0,01
74 0,074 7,4 0,0074 0,74
73 0,073 7,3 0,0073 0,73
37 0,037 3,7 0,0037 0,37
63 0,068 6,8 0,0068 0,68
48 0,048 4,8 0,0048 0,48
X 0,001 0,0001 0,1 0,01
63 0,068 0,0068 6,8 0,68
49 0,049 0,0049 4,9 0,49
3 0,003 0,0003 0,3 0,03
46 0,046 0,0046 4,6 0,46
60 0,06 0,006 6 0,6

X 0,01 0,1 0,0001 0,001
30 0,3 3 0,003 0,03
81 0,81 8,1 0,0081 0,081
15 0,15 1,5 0,0015 0,015
68 0,68 6,8 0,0068 0,068
73 0,73 7,3 0,0073 0,073
X 0,1 0,0001 0,001 0,01
51 5,1 0,0051 0,051 0,51
30 3 0,003 0,03 0,3

80 8 0,008 0,08 0,8

27 2,7 0,0027 0,027 0,27
74 7,4 0,0074 0,074 0,74
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